
1 2 3 4 5 6 7 8 9 10 11 12

1 दूध मे गाय 71 0 13 84 0 0 8 0 0 76

2 शÕुक गाय 59 0 8 67 1 0 7 0 0 59

3 ÿिश±ण हेतु 19 0 0 19 0 0 0 0 0 19

4 औसर 135 0 4 139 0 0 6 0 0 133

5 मादा ब¸चे 36 3 0 39 0 0 4 0 0 35

6 सांड बछड़े 10 0 3 13 0 1 0 0 0 12

7 नर ब¸चे 17 1 0 18 0 0 3 0 0 15

347 4 28 379 1 1 28 0 0 349

1 दूध मे गाय 0 0 0 0 0 0 0 0 0 0
2 शÕुक गाय 0 0 0 0 0 0 0 0 0 0
3 ÿिश±ण हेतु 0 0 0 0 0 0 0 0 0 0
4 औसर 0 0 0 0 0 0 0 0 0 0
5 मादा ब¸चे 3 0 0 3 0 0 0 0 0 3
6 नर ब¸चे 0 0 0 0 0 0 0 0 0 0
7 सांड बछड़े 0 0 0 0 0 0 0 0 0 0

3 0 0 3 0 0 0 0 0 3

1 नर ब¸चे 0 0 0 0 0 0 0 0 0 0
2 मादा ब¸चे 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0

1 दूध मे गाय 15 0 3 18 0 0 2 0 0 16
2 शÕुक गाय 19 0 2 21 1 0 1 0 0 19
3 ÿिश±ण हेतु 3 0 0 3 0 0 0 0 0 3
4 औसर 37 0 1 38 0 0 2 0 0 36
5 मादा ब¸चे 15 1 0 16 0 0 1 0 0 15
6 नर ब¸चे 11 1 0 12 0 0 2 0 0 10
7 सांड बछड़े 3 0 2 5 0 1 0 0 0 4

103 2 8 113 1 1 8 0 0 103

1 दूध मे गाय 5 0 1 6 0 0 2 0 0 4

2 शÕुक गाय 6 0 2 8 0 0 0 0 0 8

3 औसर 14 0 1 15 0 0 1 0 0 14

4 मादा ब¸चे 5 1 0 6 0 0 1 0 0 5

5 नर ब¸चे 1 1 0 2 0 0 0 0 0 2

6 सांड बछड़े 0 0 0 0 0 0 0 0 0 0

31 2 4 37 0 0 4 0 0 33

1 शÕुक गाय 2 0 0 2 0 0 0 0 0 2

2 मादा ब¸चे 1 4 0 5 0 1 0 0 0 4

3 नर ब¸चे 3 5 0 8 0 0 0 0 0 8

6 9 0 15 0 1 0 0 0 14

490 17 40 547 2 3 40 0 0 502

1  गाय @ghQj 44 0 0 44 0 0 0 10 0 34
2 सांड @cSy 74 0 0 74 0 0 8 0 0 66

118 0 0 118 0 0 8 10 0 100

1  गाय /@ghQj 5 0 0 5 0 0 0 0 0 5
2 सांड @cSy 15 0 0 15 0 0 1 0 0 14

20 0 0 20 0 0 1 0 0 19

1 गाय @ghQj 3 0 0 3 0 0 0 0 0 3
2 सांड @cSy 3 0 0 3 1 0 1 0 0 1

6 0 0 6 1 0 1 0 0 4

1 गाय @ghQj 1 0 0 1 0 0 0 0 0 1
2 सांड @cSy 0 0 0 0 0 0 0 0 0 0

1 0 0 1 0 0 0 0 0 1

145 0 0 145 1 0 10 10 0 124
635 17 40 692 3 3 50 10 0 626

* TWH - TRANSFER WITHIN THE HERD.

mRrjk[k.M i'kq/ku fodkl ifj"kn ¼;w-,y-Mh-ch-½ 
ekfld izxfr & gMZ ,dkmUV] Ik'kq iztuu iz{ks=] dkylh

ekg % ebZ] o"kZ % 2023&24

Ø-la- fooj.k
fiNyk 
'ks"k 

tUe
@ 
dz;

TWH* ;ksx 
(3+4+5)   

EkR̀;q
Ekkg esa 
forfjr 

lkaM+@ xk;
TWH

;kstuk@ 
izf'k{k.k gsrq  

forfjr

LFkkUrfjr@ 
forfjr 

¼df̀"k iz{ks=ksa 
gsrqa½

ekg ds vUr esa 'ks"k 6-
(7+8+9+10+11)

flU/kh

dqy flU/kh

जसê

कुल जसê
,p0,Q0

कुल

lkghoky

कुल lkghoky

fxj

कुल fxj

Fkkjikdj

dqy i'kq 

flU/kh ¼izf'k{k.k dsUnz dkylh½

;ksx¼A½
lkghoky ¼izf'k{k.k dsUnz dkylh½

;ksx¼C½

;ksx¼B½
tlhZ ¼izf'k{k.k dsUnz dkylh½

कुल flU/kh@flU/h 
A+B+Cegk;ksx

;ksx

,p0,Q ¼izf'k{k.k dsUnz dkylh½

;ksx¼C½


